INTERALS / EXERCIGE 73 (NCERT)
Sml@xfg)d%. = J \-—Cus}_z(mﬂs)("’L

QNo 1 J

fe—

—;jg - L j Cos (4% 110) dn.

_ I o
> A ;__-SM +{ = %1{-%—3!1/](&”-%10){,(

4

QNe 2

= SN (eg L :
g SA% dn - l)‘_ j;.@lnan Cos 4 dn.

- \ . - ASUNACHB
i: [S\V\('g}(f‘ztﬂ)"(‘ gln@"l(-—‘}”&)]dﬂ [_ Qn (ﬁ\i-B)-{-’Sl'\(ﬁ-B

K SInTxr 0\’1 sl SSM)L(’H
= {Q‘Eﬁé_.._:’i) \ 1 (- Coan) + C = l( C"”"*ruw) +C

ONe 3 .
subilang. S(‘.mll Cot 4 (ey b3 dx, - }_S@ Coy 1 mzn)mlm An.

"L AR

{ j {C«J (\61(‘}1}\)-} Coy (6 -20'\)] SLTEE {z Ed(mg)q-&s[ﬂ«—a

S(&g Sx} Ccsim) (o fn dn = S(Cmu 4w + oy qn,)o\

\

1

1)

1 Rusx Cosn 4 2 n ) dw
= -\4 SQM [u_‘rfo'& Lo+ \+Cﬂ‘53“‘> cln
s %(%m‘\w* Sin 84 Qﬂi‘tw) e
i 1

3
QN,.Ef” g Slv\?’(lx H) dx

S0l I . | 2as(axn)- Sm(cmg) o Simaxe SN~ AP
2 i D Ay = DSIMA-SIM3n
4.

- % S an @M%: JZI g s (6113) dx

Qudlilieu will udioC



= 3 — (g 2.
3 {i (llﬂ)) q [ C-YS(E;)(H)) :

& 6
=~ 2w mn) + L os (643)+C

.Q_‘}.‘E_S‘ g \Sl"l?)! Cus?’x d}{-
r In 0 | 3 :
Too | swin tanvesndt o | gl (1-Snw) G dx

P 8w =t = Coxdw:db

R (R R (S L

= B _iF
4 %!
= Sw'n _ ek
2 6 i
& 3 -
W? T SSLFV\‘)(- Sl"\)-ﬂ C&SBKC‘K - gCﬂ ’{U SI;(LA%
P esa=t = — S - dt
e[ e - (s d
o o
=F 4
6 L

Amw.em.“[wf\‘[ g S 2wt dn \gg ¢ sth 3 a3 An
. % L - 2

| A G ) A = & Srnan) dht.

98@“5”‘“ ) g (

' ~Sunbun), L S 21 - Sinbn c\u,
~ LXIBSMDL \ ]dn-=31&t5 A )

B s
% pa

. 3-(—&*3 N -t,ssf;x) _ -3 (adnt s
"3»5 l ) ¢ PO @ o 1t

STATTET WIUT LdI1oC



ol \( S Y an $En Ingn ‘
Sol- - Now Sy Sinan Sn3xn = )LL( 2 4N 3% Su'qrt) Sma

\—_--—QSMASMB ]
= Co(A1B) —tnn(A-B)

}-l— (Q-Sl‘hl"’t(-q 2 - 2 O 11)13“’\,1)1)

- JZ,( 3 An-Sthxfsmm)
" S SIhX QA 2N B dx s JJT S (Stv{ 4 - Stinbn - st ) dn

g (—-Gn 4 " =Ly b ot --CEB))'\) +C

= ‘1(@5 N — ‘rn) Sty 4

4 4 ¢ &
- it 4 Cetu_epnan
AN 7 6 EUE Q +(
¥ F .
~——— SSIM AX In X do

A

%(SWM é‘iii")n - %t Ll re

] a &
; |—Cesn
| (n&.‘:t

= A=A
SM d - S%M"'ji (4"1-' - S@c(l% ,,.\)O\K,

A Lg? ’“/l

= 1 S 2304 8y Sn 4 dht = | S@ﬂqx-cmu%)dx.

- A
2

QNo 9 EC,OSK de = Suanm—l 4 = Sﬁm"‘“’g\ An

| +Co3n | 4 Coin ] 4+ Ces N 1+ Gt
- ' )
& 3\ o]*,(_ SQ_GQ'L“L 1 - S|c‘-.( ” -\}‘SSCC :,g‘ch

- N - l)—. . tﬂa‘\ /).- e o= tﬂﬁ’}" e

|

Qudilieu will udioC



QN o Ss\n"u . S@m‘n)’“olm
)i Suetomh

e %’X(M U%ﬁl* -Q(usm) dn.

B 4‘,_ S(&H’rﬁnfm -fo"}l“)t‘l*‘“

2,
e )

r S (3—-%th kfm*l“) dn

= A ( 2y SN S,‘i‘i’f)*’l
(ren 85200 82

=3, _1 L anir +¢
3 e 2 Sll’\ll'l”?)l'
AN 1} Suﬂ b o S (mm)"cm
= SQHMK)LCMc.‘Z{S(wz&sqwm"qu dn.
2‘ o
= 1:15 (H 2 4y + ‘ic—?g) dn
= %g(zwwutn“) .
o Ll Singm &H%“X
6[31#‘1 - T )t
QN |2 g WAy S |-t g
|+ Cesx \-tCo SH

e j | - Lo (l’r(um) i
i \—I'Cns.n)

- SQ-J\':UL)(\')( < ‘o = Sthit ¥,

Sudileu will udioC



&N |3 S %’EL_";C_E& dx (Quas-1) (20’ l)
B (e Coy A ~Ces

- Sw* X -l——lfﬂeﬁl . Y(CM( Cda() Gn»wkv-{)l
Ces n - Gy o L('ﬂj]{ ('«30{)

* 2[{%31{#{50{)4‘4 = ASMA — 2604 H -+

@:N_O__H : ) Cos % - Sty d
P f Cob =S qn. [ S pC
Cox 4 8ig® N+ 25U = |
= S Cosn-gmn o N
LSHM -rcmt)“ ) [@m tuan ) %{(3"’” ’F“«’S’\) dn
i . 3.4
= (Smarem) Ny
+( [ 4 (N t— ]
T U )) {9 IR
R T
St +losn
QNe 1S 3 |
e R o) j h‘“’l A SecAx 'd’{' - g (ban)_ln)(t'mlx> (SECZY\)CJK

i

j@c’-(l‘u 1) (T2t secan) d

= | Lo,
Ij Sea . SGCD(-thD‘l--Z dw -—g Secm-bnm dx

y Geeo) Secax

2 +| %
113 LSCC«?X) - Sean
) L
= 3 Secan
= = See X -
6 i

Qudlilieu will udioC



N :
M S hndr?( Cll- —~ S {:mlx. h\nlx C!K-

f %cmLJL ( SC‘CL)( - ]) ({1{

f U‘a-'llx Seety — [—Ml%) dy,

i l &“".")L-SC&( dn —J‘(Seclvt—}) dn
3

Gw - ht.h)(, +x +C

N :
<l { M*Ld NES cm A B
21y ey, ,‘)

00 by )1 S ncd

dn

\ Cayn-Cos X

n

Sinx - Sx

= {VS”“L dx 4 [Cosn

1]

JC'G'M- Sean dx + S Ol o - (sl dn,

N

Secx — CoC0t t ¢
ANs |5 - EC«J&HHSM’%CM ] S

L

= j——-— da . S Sedn du - h.n b
Crin

\_@MB il du - G dn.
| Qnx.ca3x ] s

S -Coy I

_ I .SPCHK o SPCL ch(.J-K
jhmn ST : .

tann
"'j Qﬁ”‘l*\ . Seehy.dn,

Lanx

Sudileu will udioC



PUJ— kﬁ"l A = l( =) \Seclﬂ d\‘l-: (‘Il__.
e L [+ - ) A b
ST-dt- gkdt-\’gtc{

1«altl+ L
- .\wa \ L’anxl T h\‘; £ FC
Ns2s g&h_y_@_, e jcv_ﬁf_-_s_‘ﬁch%

s X
Cry % M‘mm) Gm,{ Y sw\x)”
- ng Htnn) (Cosa- St J — SN« +Cryn
kC‘M“HlW)(CmMSM) - Coyx Héinn CJK

- \ra l Cm(Jr.Slﬁx] i [ %Jcalu]
QNe 2] S Qi (Lon) bt g@l—&f’cm”‘)d“‘

E".’ i g 4t - W/L i M““]

= SE} 47\ e S'}( dx
= -2 4 |
pis (ko
0.4 & l b - — Sth ( dx
Tt Gt tolab) w-q)g Coa(n4) o (1)

s AL S mo-)-b-w)

in (b-f-") Cod (}1 -a) Cas ( 'l’)

N U Stn (3{*‘\) Ce) (x -b)..-(n U“\) _C,ur{-[x~5)d
B U’"‘) Cus (x -q) Ces (x - b) A

oLdlilrieu wiili udlili IOL



= S(h’m ’1 ) - Yo 0t b)) A

Slh(b-ﬂ\)
) s‘l-’t )Q‘h'a- cos x| 4 “alwl*-bﬂ) =
W b-a
_ S 11\@50{5)\*%
3“1(13') Cus (X a
QNop .23 stu Cey™ i o S__L_ ____, )A,L
N Rt Cas'n sthh

j&su}n - Cr&eclu,)c]u = )(qw)t p G+ C

A 15 Corved crl‘on

_@NOQQ. Sé‘%l"ﬁt! dn -

Cog™ (@)
N W .:d
QO\ fu[- N 63{: J(. = Q('é)(-"ejl)dﬂ; ot 1 € (\‘?K)d'ﬂ F
I S ac__ . SSeth dEt = lat et
Ca* t

= )('aw (3(. ex) ¥
OFJﬁe‘n R I8 Corred 0‘)1(‘0*1‘

s

\,)'rePaTcA bd I
R Flnr\ef‘ Y\MY

Leek: Mathe
C{ovl Len- _Sp( Sd-\ee])

RHAR) (Ff19

Qudlilieu will udioC



